WALLINGFORD NN SWARTHMORE

SCHOOL DISTRICT

Robert (Bob) Maloney, Director Buildings & Grounds
484-574-0247 (cell) email: rmaloney@wssd.org
200 South Providence Road

Wallingford, Pa., 19086

Strath Haven High School
Dual Side-by-Side
Batting Tunnels

Nick Cirilli, PE 610-613-3455 (cell) ncirilli@comcast.net
Bob Maloney 484-574-0247 (cell) rmaloney@wssd.org



990L] "o .?o,tzjzz
NGO@ SS@T_\/E& 'c 507 0.—.'.0“ N

[FY1S YBIN NANVH MLVALG Id.-nr LT L2l

XeN EZ0z76@ Aabew|

ns jeoifiojos9 ‘g n 'seifojouyss) Je

0id

,,,,,,



204 W _Fog_mz MM dNvIs nz.ll.
pooy NUpady, 'S SOZ NH) n— Tun..-a_z.m
~ob JQW )mﬂj (6761 eﬁ\_ﬁr_,m MO{S i 58 a1y sAl

Y00l €206 erep depy 039/0vdd/vasn fenng (eoifojoss ‘g n 'selfiojouyos L texe £Z0z@ Alefew

W0




Batting Tunnel
Supplemental Sketches

Strath Haven High School
205 S. Providence Road
Wallingford, Pa., 19086

Nick Cirilli, PE  email: ncirilli@comcast.net
Fred Pondo, PE emal: fpondo@gmail.com



Strath Haven High School
Dual Batting Tunnels Scope of work

References:

1. AAE BT-141455- DUAL batting Tunnel drawings and installation packet
2. Supplemental Sketches dated December 22, 2023

1. Remove and legally dispose of earth to desired grade versus new footings per
Supplemental Sketches. Coordinate footing elevations with school district engineer.

2. Install 12 each ground sleeves and footings per layout drawing
BT-141455-DUAL-C-002 and BT-141455-DUAL-C-003

3. Install 16 each tampins per layout drawings BT-141455-DUAL-C-002 and
BT-141455-DUAL-C-004 at elevation shown on Supplemental Sketches.

4. Install 8x8 PT timber curbing per layout drawing and Supplemental Sketches to
create foundations for dual batting tunnels.

5. Install stone, screenings, and Premium Diamond-Tex inside curbs per
Supplemental Sketches.

6. Assemble batting tunnel per manufacturer instructions. Note: Longer eye bolts may
need to be supplied and installed.

7. Install weed barrier and Diamtex between batting tunnels. Match grade inside tunnel

8. Install topsoil and reseed all disturbed areas including work access way and new
cage area. Disturbed areas of site shall be seeded with a blend of Pennlawn-fine
Fescue (67%) and perennial rye (33%). Cover seeded areas with Curlex or excelsior
biodegradable blankets.

NOTES:
a. Batting Tunnel has been purchased by school district and is available for inspection.

b. Contractor shall have a survey instrument on site at all times to ensure proper
elevations and positive perimeter drainage.

¢. Premium Diamond-Tex by Martin Limestone, Inc
74 Kurtz Rd, Denver, Pa. 17517
Sales: 800-422-8107 ext 1525.



L | 4 | e ¥ g | Q ; ‘07 JUBWIINDT snaluly WNUIWNY | 107 & IyBuAdon
F00-D-GS¥Lyi-1d 18)oed [eng-GSpLyl-19 a3o .
‘ON “aMa UL aval A NMA G:1L3IVOS
0 YFWOLENSG wnNa-esrivi-19
BLOGILOO. aiviaa
40-G6 JBuoIsUa ] epfanquan |
210N
jnokeT ajqes uoisus]
NOLLINDS3T

WO SUodSI Yy MMM
8.82-528 (019) :Xed |ApG-£26 (008) -eald ljoL
89161 Vd 'Plojsiahoy ‘eruq esudiejus pool
BITETIN

inb3 snsjyy wnupunpy
L a5 i

a|ded 2uoisus |

lauuny Bumeq sy jo Lybus]
_suns pue uidwe] 03 S108UU0D

H.Wao.»ro. > %
o ans)

iémﬁww

so&o_..uxm, 1 K.roE NddnG ¥

(AL

&\.\G QoM 1d amuwm 32@ X.Vb\l _‘U\COCSU_Q\Q

7 Pl a
oruﬂ & . g vlw‘ i ’ Q\N Lo |
< # sl &UT pue é_aéwwv

&

A\/@H SPAD) Iq\q

JNOAET o] uoisua]

? l 8




| CIRILLIASSOCIATES INC.

1489 Baltlmore Pike
"~ The Mills of VlCtOFla Suite 228

Spnngf:eld PA 19064

Fk,d DQ‘\Q\'W‘M& w ,QLL Dlﬂlﬂfj ENar (85 Lr ﬂLLowa,m()

x 3 dee /H/erc 7[().» Susle |
SJW de /7,;#6)*@ & Top Shil, Stadter FE’/A /'/ze‘» , jgw/
and Cover G C{/rkx .

Fm o[ V@ﬂ F\; ek
{ Sck Dm‘nd’ ,

o7 -\:"*’ iy

SECTIQN A

No ch,/c,

8T 3 ' Premun, qumahd—'ﬁ«x
WM@CWL -t Compad‘ by hech Mean,

Atso Sﬁﬁ .SH 3 for
Dsamond ~Ttx [ Grass

e A ~ Limitr
- é ﬁS?Ckﬁh Sf@he.
- Chele Suifae B
e .SCYW!'}%H? (’n +2
 Compa ot By
«.fj_?fmgam Bef’ovt ﬁmw
l!ammai--'&x |




Ground Level

1 i i

] | ee

Refextnce Duwor '
BT- 41455 - euq,t (i 003

i

8?‘8” PT Waad Curizl)

Lith l)o/e f eye baf T

t i
SRS SOV S PSR SRS SR SRR
i & i H

Far E»&\re, medw La‘jau‘[’




BT-141455-DUAL

Side-by-Side Batting Tunnels
14'H x 14'W x 55'L

&
Aluminum Athletic Equipment
1000 Enterprise Drive, Royersford, PA 19468
Toll Free: (800) 523-5471 Fax: (610) 825-2378
www.AAEsports.com



[ | [4 | £ ¥ | g i 4 i “0D iswdinb3 aysiyy wnunly |10z @wBukdog

L00-0-WNA-S5¥LyL-1G | 19%0ed T¥NA-SSPivl-19 a3ao
ON ‘Bia andavol  AGNMa
LbewLo HIWOLSND vNa-ssyivi-Lg
‘3Lva “AH0931YD 1200M

S811088800Y g suoyeawoads sipuun] Bumed 1,85 X ML X Hil oML
‘HLON

sleuun) Bumeg epiS-Aq-opIS - TYNA-SSY I YL-LE a0 ol phindor DUpLISHS

NOILJINOS3a S9|0ED UMOP-8l] sSholpal

oy suodsvy Jol paau syl Buneuiwie
w%wmﬂn_@wﬂhﬁawﬁmmmﬂ aﬁmwmrwu% o_%._ﬁ soAeB[S punolb wnujwinie
juewdinbg opeyy wnuwngy QmmU L0E Ojul ||e1sul mE@_._QD

@

e
'sybudn syy Wowy 19suo

.0€ B e a2e|d ul jou ey}

10 Wonoq au} 2inoas 0] pasn
ale s)jogafe pue suidwe)
Uim sbunooy sjaiouon

; Ol

e

gt

puim o enp Buimolig eonpal

01 siybudn o) Buipeu sainoag .
Jojoeney 18N leuuny Bumeg

dN-L9 'ON [2PO “T¥YNOILJO«

a|qejieAe ysiuly yeossspmod yoelg 8
Od-19 TYNOILdO«

([o1] pedeys-A zx ‘[g}] padeys

-1 gx ‘[¥L] padeys-1 gx) suoddns pue

SlUJe 18sy0 paplam Uim (piepuels ysiuy [jiw
‘'911909) sybudn wnuiwnie [em GzZ|° X b

BuoT GG X apIM bl X YBIH FL
‘Bumeu ausjAuiaiiod palean-An ‘papieiq
MOy} WG Z X 8lenbs ,p/g-1 :(zx) 1ou uley

5911055890y g suoneonoads
.65 X \ubl X Hib) OML
uijjeqg apiS-AQ-9pIS - TVNA-Sssrivi-19

| z c . T c _ 9 T / | p




[ | z | I | i | e | Q | 00 wadinh3 ous|yy wiuwnly L |0z @ wbuidos
200-0-TYNQ-§SYiyi-L18) 19408d TYNQ-GShipl-18 |ddY aiempley [991s SSa|UIBS |1V .
ON "OMJ] 31 av0 -A8 NMvaEd W®>mm_m i _(_U”_.OZ CO_”_.m__m”_.m_‘__

Aiva

SA¥OD3IVD

Tadow

sjybudn pue seAS8|S pPUNOISD JO IN0ART MBIA UB|d

‘10N

sjsuuny Bumegq epis-Ag-epIS - TYNA-GSHLFL-19

NOILJIDSE0

wo spodsTyy - mmm

81£2-528 a;_ e |/pg-£2s (008) 19914 1oL
wm.qu_zom aAuQ asudisiug gook

89%6L vd *
«:05

3 SBeyIY WnuRunYy

WEELEE G E.S.Em mS:m.GS cmc\s m&canﬁum uo :oaﬂzmto 302 ._.. EE&O&E\

lle l1em .52} X 0 L8/E 7O
__‘SSION] _jcozlll_%q

m_mcczw c®®>>«®n_. SI8ulod uo

pasn ‘sjybudn gifis-A 101 .

sjauun] Usamiaq

pesn ‘sjubudn sfis-1 gl

sJaulod pue sabipa Jaino
uo pasn ‘siybudn ajfis-1 |
l.mj 1 gbIdan

juoryisod

1081109 8y} Ul 20| 0} sjubudn
[suun} Bumeq ey} Joj aroqe
UMOUS UonejusLio sy} ul aq
Isnw sjjog dojs |y :jog dojs

«0-.09
:Ol_mm rP_ @
@)D DN N
y /» i
s Iz AP
(1] 7] AP
.NM _umM »V&A&M/%
g> 5
52 =) & J05RL DBl
- =z
9 3
e = SIBUI0D) 18N §
@ ® dA 1 .G8'9Y
|
=G O & -
22 23 _
Aﬁ&&.v_w;./w., mw mw \MN.\G& SOk w061
o m= 82 \xm@v
So” 3z iz 0%,
S 9 = B
./mu ,m |z .m.«
&,O @ @ , %@a |
©® @) Lo+
e Q06 - 81l 7 W01-0¢ Iial||i||w1— @

JNOAET 1yl

UojoN uone|elsuj

c_QEm._.\

1 PUE OA99]§ pUNoOIL)

1.9 X Myl X H.vlL OM]

sjpuun] buijjeg spis-Aq-apls - TvNA-sSvivi-19

[

S

9

£ ! 8




6 | 5 { 4 | 3 | 5 1

'BT-141455-DUAL
Side-by-Side Batting Tunnels

Two 14'H x 14'W x 55'L 5
Installation & Upright Specifications

Net Attachment Detai!7

Net Attachment Detail
BBE
15'-4"
Post
140" Height |
Tunnel
Height |

; Not all drawings to scale

oo A

Aluminum Athlatlc

See Suppeemental) }2‘:&‘3::*2%33:5235%:& PR TS

www.AAEsports.com
S KG‘I (/L\'e-j DESCRIPTION: 5 s : .
BT-141455-DUAL - Side-by-Side Batting Tunnels

NOTE:

Installaticn & Upright Specifications

MODEL: CATEGORY: DATE:
BT-141455-DUAL CUSTOMER Q7113111
DWN. BY: CAD FILE: DWG. NO.
Consult local codes for appropriate footing sizes ARP BT-141455-DUAL Packet |BT-141455-DUAL-C-003
Copyright @2011 Aluminum Athletic Equipment Co.
t 4 3 t 2 ]



L | [4 | £ [ ¥ | q 9 ; "00 JaWdinb onayly Wiulwnly |10z © wBusdon
700-0-85vL¥L-19 1940Bd |BNQ-GSYLFL-18 aso
‘ON ‘9Ma ‘34 av0 -AB NMA m : _‘ WI_,QQW
810¢/10/20 HINOLSND wvNa-ssyrlvl-19
3Lva LAYDDILND 130N G I_ _<I_|mg
40-59 isuolsua| epongquing
*ALON

jnofe ajqen uoisua |
‘NOLLAIHOB30]

Wod'sHods Iy mmm
81£2-528 (019) *xed |Lpg-cZs (008) re0.d jjoL
89¥61 Vd 'piojsiahoy ‘aalq esudisiug gool
juawdinby oRaYIy Wnulwnfy

a|geD Jauoisua |

[euun Bumeg ays jo yibus)
sunJ pue uidwe] 03 sjoauuod

T ———

i

= S

oo

10-5S

PR,

hP® §$6
r23YS Iaghol NddnG T
ALy gm) UaoM 1d g8 PN

pom

JNOAE] 9](eH uoIsua ]

T T / T m




! _ < | € ¥ i g 9 "0 Juswidinb3 apejpy wWniwngy |0z @1ybuddon
S00-0-enQ-gSvlvi-19 1@oed QvO [end sGklvl-1d a3ao A
‘ON '9Mma 3714 av2) 'AS NMQ| 1 / *
210Z/50/20 HIWOLSND [eng-ssvivi-19
‘31va ‘AH0D3LYO 713000 \ .
welbe|q alqeD :
2LON /
9|qeD |suuny Bunies e
v ‘NOILI¥OS3a \ Y
woa'spodsy Y Mmm / d
8.£2-528 (019) :xeJ | /yG-£26 (008) 18914 ||oL &
89961 ¥d ‘ploisiafoy ‘aaug esudiaiug oopl = )
juswdinbg 2532Y3y wWnuwnly 1
2 d
] | -
[
_,
_
4
|
B [ &
47Iv.L3a i
[
/
R 4 1IvLl3d
5 H “ |
u_n“‘ f L IHHU.\ _—
R HED
i / g ’
— ” 5 ES aonpal
WV\ O 4 s 0] mcE@: :m:o.:._“_
o]
S paneam sjab o|gen
Q
a 2|ged 0] JauU aindses 0}
198} Z 0} | Alana sal) a|geo s
3|qe) [euun] bumpjeg
[ z B ¥ ¥ : 9 7 / _

8



BT-141455-DUAL

14'H x 14'W x 55'L SIDE-BY-SIDE BATTING TUNNELS

PARTS LIST
Pt# Iltem Description Qty.
1A Upright — r-shaped 4.00” 0.d. x .125 x 17°-8” aluminum tube with 24" welded arm 8
and welded brace, 6061T6
1B Upright — T-shaped 4.00” 0.d. x .125 x 17°-6" aluminum tube with 44" welded 2
crossbar and welded braces, 606176
1C Upright — Y-shaped 4.00” o.d. x .125 x 17’-8" aluminum tube with two 24" welded 2
arms and welded braces, 606176
2 Main Net 1-3/4" square x 14' high x 14' wide x 55' long poly net 2
Ground Sleeve 435" 0.d. x.100 x 30" 606176 aluminum tube 12
Pulley #18-1 deck block galvanized steel pulley 16
5A Pulley bolt 1/4"- 20 x 4-1/2" hex bolt, S.S. 24
5B T-shaped Upright  1/4"- 20 x 5-1/2" hex bolt, S.S. 4
Pulley bolt
6 Cleat 8" galvanized steel cleat 16
7A Cleat bolt 1/4"- 20 x 5-1/2" hex bolt, S.S. 24
7B T-shaped Upright  1/4"- 20 6-1/2" FH mach. screw, plated 4
Cleat bolt
8 Stopbolt 1/2"- 13 x 5" steel hex bolt, plated 12
Stopbolt Nut 1/2"- 13 steel hex nut, plated 12
10 Hoisting Rope 5/16" polypropylene black braided rope, 26’ long 16
11 Pear Clip 1/4” Pear Clip, S.S. 32
12 Eyebolt 3/8"-16 x 2-1/2" steel eyebolt, S.S. 16
13 Concrete Anchor 3/8"-16 tampin insert, P25T 16
14  Nut 1/4"-20 steel nylon lock nut, S.S. 56
15 Nut 1/4"-20 steel acorn nut, S.S. 28
16 Eyebolt 5/16"-18 x 6" steel eyebolt, S.S. 16
17 Hanging Pulley #3-5 fast eye, galvanized steel, swivel pulley 16
18  Nut 5/16"-18 steel nylon lock nut, S.S. 16
19 Cable Clamp Galvanized steel cable clamp and brass O-ring 16
Assembly
20 Main Net Tension  3/16" vinyl coated galvanized cable assembly (55’ long) 8
Cables
21 Tensioner Kit Galvanized 5/8" Tensioner, cable clamps, cable loop, shackles 4
22  Wire Ties Black polypropylene net ties 200

Page 1 of 2




BT-141455-DUAL
14'H x 14'W x 55°L SIDE-BY-SIDE BATTING TUNNELS
PARTS LIST

FOR TECHNICAL ASSISTANCE, CALL 1-800-523-5471

K\AAE Data\PDF Files\Product Instructions & Parts Lists\Basebal\BT-141455\BT-141444-DUAL Parts List.doc
Copyright © 2011 Aluminum Athletic Equipment Co.

Page 2 of 2




BT-141455-DUAL

14’'H x 14°'W x 55’L SIDE-BY-SIDE BATTING TUNNEL
LAYOUT AND INSTALLATION INSTRUCTIONS

LAYOUT: Refer to Drawing No. BT-141455-Dual-C-002

INSTALLATION:

Step No. 1

Placing Ground
Sleeves

Step No. 2

Setting Ground
Sleeves

Step No. 3

Drilling & Pouring
Concrete Piers

See Drawing No.
BT-141455-Dual-
C-002

Step No. 4
Upright Assembly

See Drawing No.
BT-141455-Dual-

Drill or dig 15"-18" diameter holes a minimum of 36" deep
(Consult local building codes for concrete depth and drainage
requirements.) at each Ground Sleeve Location. Fill the bottom of
each hole with approximately 6” of crushed stone, so the depth
from ground level to the top of the stone is 30”. Insert 30"
aluminum ground sleeves (ltem No. 3) "bolt side" down. Make sure
the ground sleeves are flush with the ground, centered, leveled
(individually, as well as with each other), and plumb. Also, rotate
the ground sleeves so that the two (2) grooves (Installation
notches) on top of the ground sleeve are aligned correctly - See
Drawing No. BT-141455-Dual-C-002 for details.

NOTE: It is extremely important that the Installation Notches on
top of the ground sleeve are in proper alignment, so the keyslot in
the main upright will lock the upright into its proper position when
set into the ground sleeve.

When all the ground sleeves are in the proper position and
alignment, the concrete can be poured. (Be sure not to get any
concrete inside the ground sleeves!) As the concrete cures,
constantly check to see that the ground sleeves are flush with the
ground, centered, plumb, and in the correct alignment.

Drill or dig 6" diameter holes 10" deep (Consult local building
codes for concrete depth and drainage requirements.) At each
“tampin location”. Fill void with concrete to a level 2" below ground
level. While the concrete is still in a semi-pliable state, place the
tampin insert (Item No. 13) in the center of the pier so that the top
of the insert is flush with the top level of the concrete. (DO NOT

get concrete inside the tampin insert!) When concrete has
hardened, thread 3/8"-16 eyebolt w/ attached Pear Clip (ltem

Nos.11 & 12) into inserts.

For r-shaped uprights (Iltem No. 1A):

Attach swivel pulley, w/ attached eyebolt, (Item Nos. 16 & 17) to
the hole at the end of the upright arm using a 5/16"-18 nylon lock
nut (ltem No. 18).

Page 1 of 3




BT-141455-DUAL

14’H x 14’'W x 55’L SIDE-BY-SIDE BATTING TUNNEL
LAYOUT AND INSTALLATION INSTRUCTIONS

C-003

Attach a fixed pulley (ltem No. 4) through the upper set of holes
using 1/4"-20 x 4-1/2" hex bolt (ltem No. 5A) and 1/4"-20 nylon
lock nuts (ltem No. 14).

Attach one cleat (ltem No. 6) through the lower set of holes using
1/4"-20 x 5-1/2" hex bolt (Item No. 7A) and 1/4"-20 nylon lock nuts
(ltem No. 14). Cap threads with 1/4" -20 acorn nuts (ltem No. 15).

Thread hoisting rope (ltem No. 10) with attached pear clip (ltem
No. 11) through top pulley, middle pulley, and secure to cleat.

For T-shaped Uprights (ltem No. 1B):

Attach swivel pulleys, w/ attached eyebolt, (Item Nos. 16 & 17) to
the holes at each end of the upright crossbar using 5/16"-18 nylon
lock nuts (ltem No. 18).

Attach a fixed pulley (ltem No. 4) on either side of the upright
through the upper set of holes using two 1/4"-20 x 5-1/2" hex bolts
(Item No. 5B) and two 1/4"-20 nylon lock nuts (ltem No. 14). (The
two pulleys share the same set of hardware)

Attach two cleats (ltem No. 6) on either side of the upright through
the lower set of holes using two 1/4"-20 x 6-1/2" FH machined
screws (ltem No. 7B) and two 1/4"-20 nylon lock nuts (ltem No.
14). Cap threads with two 1/4" -20 acorn nuts (Item No. 15). (The
two cleats share the same set of hardware)

Thread hoisting rope (ltem No. 10) with attached pear clip (ltem
No. 11) through top pulley, middle pulley, and secure to cleat.

For Y-shaped Uprights (Item No. 1C):

Attach a swivel pulley, w/ attached eyebolt, (Item Nos. 16 & 17) to
the hole at the end of each of the upright arms using 5/16"-18
nylon lock nuts (ltem No. 18).

Attach two fixed pulleys (ltem No. 4), one under each arm, through
the upper set of holes using four 1/4"-20 x 4-1/2" hex bolts (ltem
No. 5A) and four 1/4"-20 nylon lock nuts (ltem No. 14). (Pulleys do
NOT share the same set of hardware)

Attach two cleats (ltem No. 6), one under each arm, through the
lower set of holes using four 1/4"-20 x 5-1/2" hex bolts (Item No.
7A) and four 1/4"-20 nylon lock nuts (ltem No. 14). Cap threads
with four 1/4" -20 acorn nuts (Item No. 15). (Cleats do NOT share
the same set of hardware)

Thread hoisting rope (ltem No. 10) with attached pear clip (ltem
No. 11) through top pulley, middle pulley, and secure to cleat.

After concrete cures, insert assembled uprights into ground

Page 2 of 3




BT-141455-DUAL

14’H x 14'W x 55’L SIDE-BY-SIDE BATTING TUNNEL
LAYOUT AND INSTALLATION INSTRUCTIONS

Step No. 5

Installing Bottom
Tensioned Cables

Step No. 6

Installing Main
Net

Step No. 7

Fasten Bottom of
Net Border to
Tensioned Bottom
Cables

sleeves.

Lay 55’ long cables out length-wise (x4). Attach pre-made loop end
thimble with anchor shackle to corner tampin eyebolt on ground.
End cable a bay short on the corner where entrance is preferable
(this will allow for net to be clipped on and off for easy entering.
Position turnbuckle at one end and make up with thimble. Make
sure to remove the cable coating (2’ typical) with a box cutting
knife *BE CAREFUL. Pull the cable around the thimble, which is
attached to the corner eyebolt via an anchor shackle. Use cable
clamps anchor shackles Tension all cables and clip cable at
intermediate locations along the length.

(Ask AAE about the BT-EZ Batting Tunnel Entrance Zipper, which
can be added to any batting tunnel net to create an opening in any
location on the net.)

Lower hoisting rope w/ attached pear clip and cable clamp (ltem
Nos. 10, 11, & 19) to about 4 ft. above ground level. (Keep end of
rope secured to cleat so you don't lose the rope!). Layout the main
net and attach the cable clamps at each post to the net, starting at
the corners at one end and working down to the other end. Once
all posts’ hoisting ropes are attached, raise the net all the way and
secure the end of the rope firmly and professionally to the cleat.
(Consult former Navy personnel or handbook for proper method.)
Repeat the process for the second net.

Start at the far end corner away from the chosen entrance side
and zip tie bottom border of net every 68” (3-4 net square blocks). It
may help to lower the net a foot from the top so not to create
unwanted tension during this step. Once completed, clip zip tie
ends and raise net fully.

FOR TECHNICAL ASSISTANCE, CALL 1-800-523-5471

KANAAE Data\Product Instructions & Parts Lists\BT-141455\BT-141455-DUAL Installation Instructions.doc

Copyright © 2011 Aluminum Athletic Equipment Co.

Page 3 of 3




